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tangents on , itis called concave downward on 1. A point Pon acurve y = f(X) is called an inflection'point if f is continuous there and the

curve:changes-from concave upward toconcave downward (or viee versa)at P.s
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If f (x) > 0 on an interval, then f is increasing on that interval. ‘
W If f’(x) < 0 on aninterval, then f is decreasing on that interval. ) —_——— : ”
: NI f’(x) > 0 forall X in 7, then the graph of f is concave upward onl. L : i

} If f"(x) <0 forall X in, then the graph of f is concave downward on . ‘
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[est: Suppose that C is a critical number of a continuous function f . 3
" - & i
J changes from positive to negative at C, then f has a local maximum at C.

f 4 changes from negative to positive at C, then f has a local minimum at C .
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. Test: Suppose f is continuous near C .
l‘fﬁf‘c)ﬁﬂ and f (¢)>0,then f has alocal minimum at C.
£ f(¢)=0and f7(c)<0,then f hasalocal maximumat C.
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———~ o Atthe end use f again to find the y values of critical and inflection points to order to sketch them.

e From f’

failc stthe gragh.

Factor to see if any Holes exist then state VA’s and Domain (watch out for restrictions in denominators, roots and
log functions)

Find x and y intercepts

Decide if there is HA or OA

Look at multiplicities of zeros and VA’s to determine function behavior near zeros and VA’s
*Find positive/negative intervals ie. test intervals

Find critical points (classify them using 1% derivative test if you had to state intervals of inc/dec, OR using 2%
derivative test if you had to state concavity)
*Find increasing/decreasing intervals

Find possible inflection points (decide if actually inflecting there by looking at CU/CD intervals)
Find concave up/down intervals
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